
 

 

 

 

 

 0.10 m  2.0 s   
 1 

  
  0.50 Hz 

 

 2.0 m  4.0 m  𝑉  
 1.0 m 

 0.10 s 
  10 m/s 

 

(1)  𝑉  𝑓𝜆  
 𝜆 

 𝑇 
  

 4𝑋 

 𝑇 
 

 

    (2)  𝑥  0 

𝑦 

             

         

 

                                                          

 

       

 

 

       𝑥  𝑋 

𝑦 

             

         

 

                                                          

 

       

 

 

 

 

 

𝐴 

𝐴 

0 
𝑇 

 𝑡 

𝐴 

𝐴 

 

0 
𝑇 

𝑡 



       𝑥  2𝑋 

𝑦 

             

         

 

                                                          

 

       

 

 

       𝑥  3𝑋 

𝑦 

             

         

 

                                                          

 

       

 

 

 

𝑦 

             

         

 

                                                          

 

       

 

 

 

 

 

 

 

 

𝐴 

𝐴 

0 
𝑇 

𝑡 

𝐴 

𝐴 

0 
𝑇 

𝑡 

𝐴 

𝐴 

0 
𝑉𝑇 

𝑥 



 

 

 

 

 (1) C G   (2) A E   (3) B D F (4) C G 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

𝑦 

             

         

 

                                                          

 

       

 

 

 

 O B D F  A C E 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1 

1 

0 
1     2     3      4      5 

𝑥 



 

 

 

 

 (1) 𝑡  𝑇 

𝑦 

             

         

                                          

                                                          

 

       

 

   𝑡  2𝑇 

𝑦 

             

         

                                          

                                                          

 

       

 

 

(2)  

𝑦 

             

         

                                          

                                                          

 

       

 

 4  3  

 

 

 

 

O 
𝜆  

𝑥 
A 

O 
𝜆  

𝑥 A 

O 
𝜆  

𝑥 
A 



 (1) 𝑡  𝑇 

𝑦 

             

         

                                          

                                                          

 

       

 

   𝑡  2𝑇 

𝑦 

             

         

                                          

                                                          

 

       

 

 

 (2)  

𝑦 

             

         

                                          

                                                          

 

       

 

 3  4  

 

 

 

 

 

 

 

O 
𝜆  

𝑥 
A 

O 
𝜆  

𝑥 
A 

O 
𝜆  

𝑥 A 



 

 

 

 

 

P 2   5.0 2.0  3.0  (1  

 1 

 2 
 ) 𝜆 

  2  

  1.0 1.0  0 cm   

 

Q 2   6.0 2.0  4.0  2𝜆 

  2  

  1.0 1.0  2.0 cm   

 

 

P 2   5.0 2.0  3.0  (1  

 1 

 2 
 ) 𝜆 

  2  

  1.0 1.0  2.0 cm   

 

Q 2   6.0 2.0  4.0  2𝜆 

  2  

  1.0 1.0  0 cm   

 

 

 

 



 

 

 

 

 

(1) A B  𝑛𝐴𝐵   
 sin45

 sin30
  √2  

 

  

                        

 

                                          

                            

                                  

 

 

(2) 𝑛𝐴𝐵   
 𝑉𝐴 

 𝑉𝐵 
  

 𝜆𝐴 

 𝜆𝐵 
  

    

 𝑉𝐵  
 1 

 √2 
 𝑉𝐴 𝜆𝐵  

 1 

 √2 
 𝜆𝐴 

   A B  

 
 1 

 √2 
  

 1  

 

 

 

 

 

45  

30  

A 

B 


